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2. a=1, b=3 %4 ", 2(5a - 3b) - 4a(3a - 2b) 2| F2?

(ON @1 ® 2 @ 3 ®)4

2a(5a—3b)—4a(3a—2b) = 10a*—6ab—12a*+8ab = —2a*+2ab
—2a® +2ab=-2+6=4
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®43 @49 @416 @324 ©39

~&B ~

(4x)2 =2 X 4x X A + A% = 16x? — 8Ax + A?
=16x2 - Bx+9

A2 =9, A=3( A AdE)

B=8A=24

LA=3, B=24
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23 x 57 x 26 x 5° = 29 x 512
=29 %59 x 53
=109 x 125

whatA] 12 2hale] Solch,




212 x 513 =212 x 512 x 5 = (2x 5)12 x5
=102 x5

a4 1372 o] Seo]tt.




H

E Fotelet (2 y>x)

oHd =

>
|>I'“:|" y_x

= 9w,y o Hhstel x ey xa vy =

B

xXnyxx‘yxy‘xzx"nyXlx_
x

(o
()
-0




v VvV v Vv

n 200 27\ o SR 2 o =
(B s wsmste A n o] ghg nE ojolel

16
k"
[= )
=t
| — ]
HED o4
P 5




10
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O A=1,B=3,C=2

® A=2,B=3,C=2

@A:3,B=3,C=1
B

® A=1,B=3,C=-2

@® A=2B=3,C=3
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3A+1=10, A=3
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g 2o {3)6 +{ <2x2

o ta+b+c o F2?

_3)” — a4 bxte N A a, b, ¢

11 1 5
-9 __ - — 1
1 2
gx +2— |:§x2+{ ( x2_3>}:|
1 2
:§X +2—g§x2+X—2 2+3>
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11
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11, a=-2 b=- A, oF& 49| g2 Tafolt

4a(a - 2b) — a(2a - 3b)

(F4]) = 4a® - 8ab — 24> + 3ab = 24> - 5
5 2a% —bab=8-4=4
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(F£4]) = 2x% + 4x - (3x — x?)
= Sy e o= B A B

A=3, B=1
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B *
(x+2)(x+A) =x*+T7x+ Bo|BER
A+2=7 2A=B
A=5 B=10
x O AlpE AR B3] W2l I & D sk
(Dx-1)(x+3) =Cx* - 7x- 30|22
D=-2 C=-
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14. axb=(a+b)2 22 FoJ u, 2x* (—y) 4 x* 2y S 7HH5] 5hH??

@D 2x2 + 2y? @ 3x% +3y? @ 4x? + 4y?

(@)5x2 + 5y? ® 6x% + 6y

(2x - )% + (x +2y)°
=4x% — 4dxy + % + 1% + dxy + 4?
= 5x% + 5y?
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18. 3x-2 {x+2y— (y—3x—:)} =-Tx-6y 4 “H,:?l'oﬂ

o o)
o2 427

O -2x-y @ -2x+y ® x+y
@x—l—Qy ® 3x+ 3y
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= —Tx — 6y
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(2x =3y +1)(2x + 3y — 1) & AA5HA?

O 4x?-3y2-1 @ 4x?-9y% -1
(@)4x2—9y2—|—6y—1 @ 4x> +6y2-3y-1

® 4x%>-3y* +6y—1

~&B

(2x-3y+1)(2x+3y—-1)
={2x-(By-1)}{2x+ (3y-1)}
= (2%)% - 3y - 1)?

=4x2— (9% -6y +1)

=4x2 -9 +6y-1




3* 25y
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Tx=-2x+2y+4+3
25%1Y = 625 x 5 = 5% x 53 = 5P +4
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whebA 26 24 ©f S=ot,




21. ©=&F (-a+2b)* T A4 0] £ A2?

@® —(a-2b)? @ —(a+2b)? ® (-a-2b)?
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~&B

(-a+2b)? = a® — 4ab + 4b*

® —(a-2b)% = —a® + 4ab — 4b*

@ —(a+ 2b)? = —a® - 4ab - 4b?

® (-a-2b)? = a® + 4ab + 4b*

@ (a-2b)? = a® - 4ab + 4b*

® (a+ 2b)? = a® + 4ab + 4b* (—a + 2b)? = {—(a - 2b)}*> =
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® 2x% + 2xy + 2y?

(2 + 2xy + ¥2) + (22 = 2xy + y2) = 2x% + 22
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(4x? = 3x +2)(3x® + 5x2 + 7)

= 12x% 4 20x* + 28x% — 9x* — 15x% — 21x + 6x3 + 10x2 + 14
=12x° + 11x* — 9 4 38x2 — 21x + 14
S124114(-9)+38+(-21)+14=45
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o] =gk}, oluf, m —n 9] S F5hedzt

33 2
)} Xa*h™® =2"x 3"

(a'p?)? = {(%)3}2 X atb=5

— o1 s 3m
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b0 4
=— x abh0 x Z_S — (ab)7

Alof| df st
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x=1< Hgst
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